MaHHuk MiBaH Anekceesund UMM
MHH 550601072855
Mepuog panHbIX 10.01.2024

Mopw.Omck, yn. 10 net OkTa6ps, A. 172A

MWP NOoALLUMMHUKOB
Ne Tosap Leda | [ Ne | ToBap LleHa
3. ﬁop.munHMKM CRAFT n KG - ﬁomuunHMKM npou3BoACTBa CRAFT n KG
1 03*10*4 (DDR 1030 ZZ) (NMB) 492 50 63002 2RS KG (15*32%13) 366
2 04,7*12,7*5 (77R3 -FBJ)(R3-2RS) (AXK) 261 51 63002 2RS(TIMKEN) (15*32*13) 1406
3 04,7*12,7*5 (R3-Z2) (KG) 126 52 63004 2RS (CRAFT) 20*42*16 (cmoTpu 625
3056004)
4 04* 8*3 MR84ZZ (NSK) 305 53 63005 2RS (SKF) (TIMKEN) 25*47*16 2 258
5 04*10*4 MR104ZZ (NSK) 336 54 63006 2RS (SKF) 30*55*19 3032
6 04*13*05 (DDR1340 ZZ) (NMB) 723 55 63007 2RS KG (3056007 craft) 35*62*20 924
HepxaBelka
7 05*10*4 MR105ZZ(NSK)(DDL1050 ZZ) 315 56 63007 2RS SKF(TIMKEN)(FBJ)35*62*20 2940
(NMB)
8 06,35%15,875*4,978 (R4-ZZ) (KG) 126 57 63009 2RS KG 788
9 06*10*4 MR106ZZ (NSK) 305 58 B08-85T12DDU NSK 8*23*14 819
reHepaTtop
10 07*11*3 MR117ZZ (NSK) 305 59 B10-42-13 /6302 RMX (MCB)(SRR) 893
10*42*13reHepaTop
11 07*14*5 (687- ZZ) (NSK) 263 60 B10-50 D NSK, FBJ 10*27*11reHepaTop 872
12 08*12*3.5 (DDL1280 ZZ) (NMB) 305 61 B15-69-T12 NSK FBJ 15*35*13 reHepatop 809
13 08*14*4 MR148ZZ (NSK) 305 62 B15-86T1X (NSK) 15*47 *14reHepatop 849
14 08*22*11 (SKF)(630/82RS1) 849 63 B17-101A(333),(FBJ),(FKC)(437-2RS) 1811
reHepatop 17*52*16
15 09.5*22.2*5.5 EE3 ZZ (KG) 188 64 B17-101AT1X (949100-3330)KG 17*52*16 473
16 10*28*6 16100-2RSH (SKF) 305 65 B17-123 (BAB0569UX Krauf) 17*52*21 1049
17 11*20*7 ynopH.(BB-20/11/7-NI) gns 105 66 B17-126 DDWC3E (17*62*17.5)(NSK) 1838
LapHupa
18 12*35/37 Tauka 158 67 B17-126-21BAB2074 (17*62*21) KRAUF 2 888
19 14137A/276 KOYO p\k(35*69,*20) 3485 68 B17-127T1XDDGCO01 (NSK) 17*62*20 2 340
20 15123R/15245R (NSK) p\k() 1574 69 B17-52-22(EPBD17-29T1XDDUMCGO01)(NS 1721
K)17*52*22
21 16*35/37 Tauka 158 70 B17-99DWB FAG.CARGO, NSK 17*52*17 1418
22 20*35/37 Tayka 158 71 B25-139 (NSK) 25*68*18 2515
23 25580/520 (CRAFT)(KG) p\k 788 72 B25-198CG12ZNXC3 MoawwmnHuk KM 1943
44,5*82,98*23,8 (NSK) 25*63*18
24 25580/520 (NTN.NSK) p\k 44,5*82,98*23,8 4094 73 B32-10 (NSK) 32*72*19 2678
25 25580/520 (PEER) p\k 44,5*82,98*23,8 2048 74 Craft 33007 NSK 3285
26 25590/520 (NSK) p\k 4094 75 Craft 33009 Craft 1133
45,618*82,93*23,8/19,05
27 25877/25821/2/Q (SKF) p\k 2625 76 Craft 33010 Craft 893
28 27687/20(KG) p\k 2592 77 Craft 33012 KG 1313
29 2790/2720-(CRAFT) p\k (33,3*76,5*26) 1029 78 Craft 33013J HR (NSK) 8745
30 368A/362A (CRAFT) 50,8*88,9*20,64 1217 79 Craft 33016 KG 3096
31 37425/37625 (TIMKEN) (NTN) 13524 80 Craft 33017 KG(VEC) 2477
108*158,8*24
32 3780/3720-4T(NTN) p\k 4692 81 Craft 33018 CRF Ha 3y6peHka (90*140*40) 3098
33 387A/382A (PEER) 2 205 82 Craft 33019 KG 3032
34 47686/47620 (CRAFT) 82,55*133,35*33,3 2783 83 Craft 33020(CRAFT) 33020 100*150*39 3915
p\k MEPCELEC
35 60/22 2RS1(KOYO) 22*44*12 609 84 Craft 33021 (KG)(VEC) 105*160*45 MAN 3149
36 60/28 2RS1 NSK (KOYO) 28*52*12 1040 85 Craft 33022 (CRAFT) 110*170*47 4431
MEPCELEC
37 62/22 2RS1 (ZKL) 22*50*14 840 86 Craft 33112 KG(VEC) 1794
38 62/28 2RS1 NSK, KOYO 28*58*16 1365 87 Craft 33114 KG 3516
39 62/28 2RS1 (CRAFT) 28*58*16 681 88 Craft 33115 Craft 75*125*37 MAN 3359
40 62/28 NR (NSK) 28*58*16 1638 89 Craft 33116 80*130*37 Tpeinep + 2415
7610(32310)KG
41 62/32 DDU C3 NSK 32*65*17 2456 90 Craft 33116 (SKF-yuk)(FAG) 80*130*37 5040
Tpennep + 7610
42 62000 2RS KG (10*26*10) 261 91 Craft 33117 KG 33117(VEC) 85*140*42.95 3444
PEHO
43 63/22 2RS(KOYO) NACHI, NSK 22*56*16 1281 92 Craft 33118 (CRAFT) 90%150*47.19 3728
44 63/22NR (KOYO) 22*56*16 1523 93 Craft 33122(CRAFT) 7 697
45 63/28 2RS NSK, NTN,KOYO 28*68*18 1 565 94 Craft 331293 75*115*32,95 MEPCE[JEC 4976
46 63/28 NR KG moTouukn 28*68*18 KG 1017 95 Craft 33205(CRAFT) 776
47 63/28 NR/2RS (KOYO) moToumkn 28*68*18 1523 96 Craft 33205(FAG) 998
48 63000 2RS SKF(SNR)(10*26*12) 1449 97 Craft 33206(NSK) 2394
49 63001 2RS SKF . NSK (12*28*12) 1365 98 Craft 33207(FAG) 2825

Crtpanuua: 1/3



MaHHuk MiBaH Anekceesund UMM
MHH 550601072855
Mepuog panHbIX 10.01.2024

Mopw.Omck, yn. 10 net OkTa6ps, A. 172A

MWP NOoALLUMMHUKOB
Ne ToBap LleHa Ne | ToBap LleHa
3. ﬁop.munHMKM CRAFT n KG - ﬁomuunHMKM npou3BoACTBa CRAFT n KG
99 Craft 33209 SKF 5093 136 LM29749/711 (99402) (TIMKEN) 2783
(38,11*65,08*20)
100 Craft 33210 (PER.33210(PEER) 50*90*32 2888 137 LM300849/811 (NSK)(41*68) 1857
PEHO
101 Craft 33211(SKF) VKBA 2061 55*100*35 6 383 138 LM48548/10(7907) TIMKEN, NSK 1259
102 Craft 33212 KG 1890 139 LM501349/10-(CRAFT) 809
41.275*73.431*19.558
103 Craft 33213 (CMN3-4,,3007213A) 65*120*41 3422 140 LM501349/10-(PEER) 1344
PEHO.SCANIA.TPEUIIEP 41.275*73.431*19.558
104 Craft 33214 KG 70*125*33,41 PEHO 3327 141 LM501349/10(NTN)(DAS). (TIMKEN) 1523
(41.275*73.431*19.558)
105 Craft 33215 (SKF) UKR (VKBH 2406 s) 6 090 142 LM603049/011 1974
(PEER)(45.242*77.788%19.2842)
106 Craft 33216 2993 143 LM603049/011/Q NSK 2205
(KOYO)(45.242*77.788%19.2842)
107 Craft 39580/39520 57,15*112,712*30,162 2771 144 LM67048/10 (KG)-P2P 31,75*59,131*17 546
BOJIbBO (7906)
108 Craft 39590/39520 66,675*112,712*30 1575 145 LM67048/10 SKF, FAG, Timken 1364
MAN 31,75*59,131*17 (7906)
109 Craft 537/532 50,8*107,95*36,512 VOLVO 6 677 146 LM806649/LM 806610 (CRAFT) 1554
110 Craft 594/592 95,25*152,4*39,688 VOLVO 3747 147 M12649/10 (21,5*50) (NSK) 1017
111 Craft 663/653 82.55*146.05*41.275 5669 148 M802048/011 (41,275*82,550%26,543) 2 205
VOLVO,PEHO (PEER)
112 Craft HM 215249/HM215210 76*132*39 6 677 149 M84548/K-M84510 (ZKL) 1521
VOLVO
113 Craft HM 218248/HM218210 (SKF-JTyuk) 4494 150 M84548/K-M84510 (KG) 692
89,974*146,975
114 Craft T2ED070/QCLNVB061 70*130%43 3024 151 M88043/M88010 (30.163*68.262*22) 2970
VOLVO TIMKEN
115 DJB MoawmnHuk reHepatopa 504 152 M88048/M88010 (KG).33.4*68.3*17.5 893
B885D(8*23*14)
116 DJB MoAlumnHunK yHuBepcanbHbIi 630 153 M88048/M88010 (NTN).33.4*68.3*17.5 2981
B17-116D(17*52*18)
117 FKC MoawmnHuk wapwukoseln B17-123DD 2468 154 NSK 63/22DDUC3 (22*56*16) 1397
17*52*21
118 HM 88542/10 (KG) 31.75*73.025*22/29 1721 155 NSK 15*35*13 B15-69T1XDDW1NCXCE 944
MogwmnHuk reHepatopa B1569T12DD
119 JD lMogwmnHuK 3aKkpbITbI(pe3nHa) 546 156 NSK 3ameHna B17-99T1XDDG8CG16E 1775
(15/35/13) B15-69D JEB0018 MoawwmnHuk reHepaTopa
B1799DDWS8CG16E(17*52*17)
120 JL 69349/10 1910 157 NSK MoawmnHuk reHepatopa 2035
(SNR)(NSK)(20070\38)(38*63*17) B17126DDWC3E
121 JL819349/10-9X029 (TIMKEN) 95*135*20 11 549 158 NSK TMNoawwmnHmk cTynuubl Koneca | 3ag 884
npas/nes | LM11949R910RNES4C02
122 JLM104948/10 (NTN) 50*82*23,18 3285 159 NSK MoawwmnHuk ctynuusl koneca B3210C5 2423
TOMOTA (NTN) 32*72*19
123 JLM104948/10 (ZKL) 50*82*23,18 1523 160 NSK lMNoawmnHmk yHuBepcanbHbIv 1775
TONOTA B17-116T1XDDGCMR(17*52*18)
124 JLM104948/10 KG 50*82*23,18 TOMOTA 788 161 NSK CHsT, 3ameHa 1246
LM11949R/910RNES4CO02 MogwmnHmk
CTynuupl Koneca | 3ag npas/nes |
LM11949RLM11910R
125 JLM506849/10 (PEER)(55*90*23) 1910 162 SA 05 T/K (CRAFT) Tara (n+np) 209
126 KG 30BCDS3 30*67*17/25 534 163 SA 06 T/K (CRAFT) tara 221
127 KG 534565 70*130*57,5 (332330 A 7 202 164 SA 08 T/K (CRAFT) tara 231
CRF)(STELLOX)
128 Koyo MoawmnHuk ctynuubl koneca | nepeq 1342 165 SA 10 T/K (CRAFT) Tsara 350
npas/nes | HICAPLM50134910
129 L 44643/610 (ZKL. NSK) 1418 166 SA 12 T/K (CRAFT) tara 567
25.3*50.3*14.(2007405)
130 LM102949/910/Q (KG) 45,3*73,5%19,8 1059 167 SA 14 T/K (CRAFT) Ttsra 755
agMupan
131 LM104949/ LM 104912(NTN) 4 209 168 SA 16 T/K (CRAFT) Tdra, HapyxH. npas. 630
132 LM11949/ LM 11910-4T (NTN)(NSK) 893 169 SA 18 T/K (CRAFT) Tdra, HapyxH. npas. 839
133 LM12749/10 KOYO, SKF 1343 170 SA 20 T/K (CRAFT) Tdra, HapyxH. npas. 893
134 LM12749/11 1353 171 Sa 22 T/K (CRAFT) tsra, Hap 2079
135 LM29749/710 (TIMKEN. NSK) 1670 172 SAEMOTO MoawmnHmk 734
(38,11*65,08*19) SM44081(15*52*16)

Crtpanuua: 2/3



MaHHuk MiBaH Anekceesund UMM
MHH 550601072855
Mepuog panHbIX 10.01.2024

Mopw.Omck, yn. 10 net OkTa6ps, A. 172A

MWP NOALUNINMHUKOB

Ne Tosap Leda | [ Ne | ToBap LleHa
3. NopwmnnHukn CRAFT u KG - NMoaWwmnnHukn npousBoacTBa CRAFT u KG
173 SAEMOTO MNMogwwunHuk SM44179(Kntain) 1575
25*72*19
174 Sal 06 T/K (CRAFT) Ttsira, BHyTp. 284
175 Sal 08 T/K (CRAFT) Ttsira, BHYTp. 263
176 Sal 10 T/K (CRAFT) Ttsira, BHYTp. 336
177 Sal 12 T/K (CRAFT) Ttsira, BHyTp. 473
178 Sal 14 T/K (CRAFT) tara, BHYTp. npaBasi 776
179 Sal 16 T/K (CRAFT) tara, BHYTp. npaBasi 840
180 Sal 18 T/K (CRAFT) tara, BHYTp. npaBasi 877
181 Sal 22 T/K (CRAFT) Ttsira, BHYTp. 2004
182 SC04B27CS24PX1 (20*52*12) (NTN) 1155
183 SNR MoawwmnHuk 63007EEC3 35*62*20 2989

Crtpanuua: 3/3



